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1829H(H) AP & 79 12,600 66%
1H30H(KX) AN = 79 12,600 66%
1HA31H(K) KPR = 79 12,600 66%
2H1H(K) AN = 79 12,600 66%
2H2H(ER) N = 79 12,600 66%
2H3H(X) AN = 79 12,600 66%
2H4H((H) KPR & 79 12,600 66%
2H5H((A) AN = 79 12,600 66%
2H6H(X) N = 79 12,600 66%
2H7H(K) AN = 79 12,600 66%
2H8H(K) N = 79 12,600 66%
2H9H (&) AN = 79 12,600 66%
2H10H(%) KPR & 79 12,600 66%
2H11H((H) AN = 79 12,600 66%
2H12H(H) AP = 79 12,600 66%
2H13H(N) AN = 79 12,600 66%
2H14H(K) KB = 79 12,600 66%
2H15H(K) AN = 79 12,600 66%
2H16H (&) KB & 79 12,600 66%
2H17H(X) AN = 79 12,600 66%
2H18H(H) KB == 79 12,600 66%
2H19H(A) AN = 79 12,600 66%
2H20H(N) ABR = 79 12,600 66%
2H21H(CK) AN = 79 12,600 66%
2H22H(K) PN & 79 12,600 66%
2H23H(%) AN = 79 12,600 66%
2H24H(L) KB = 79 12,600 66%
2H25H(H) AN = 79 12,600 66%
2H26H(H) KPR = 79 12,600 66%
2H27H(N) AN = 79 12,600 66%
2H28H(K) AP & 79 12,600 66%
2H29H(K) AN = 79 12,600 66%
3H1B(GE) KB = 79 12,600 68%
3H2H(TL) AN = 79 12,600 68%
3H3H((H) KB = 79 12,600 68%
3H4H((A) AN = 79 12,600 68%
3H5HX) KPR & 79 12,600 68%
3H6H(K) AN = 79 12,600 68%
3H7H(K) KB = 79 12,600 68%
3H8H(&) AN = 79 12,600 68%
3H9H(X) N = 79 12,600 68%
3H10H(H) AN = 79 12,600 68%
3H11H(A) AP & 79 12,600 68%
3H12H(N) AN = 79 12,600 68%
3H13H(K) AP = 79 12,600 68%
1829H(H) RS AN 80 12,600 66%
1H30H(X) BS KB 80 12,600 66%
1H31H(K) RS AN 80 12,600 66%
2H1B(K) & AP 80 12,600 66%
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2H2H(E) BE AN 80 12,600 66%
2H3H(X) =] AP 80 12,600 66%
2H4H(H) BE KB 80 12,600 66%
2H5H((H) =] KB 80 12,600 66%
2H6H(X) BE AN 80 12,600 66%
2H78(0K) & AN 80 12,600 66%
2H8H(K) BE AN 80 12,600 66%
2H9H(E) =] AP 80 12,600 66%
2H10H(X) BE KB 80 12,600 66%
2H11H(H) =] AN 80 12,600 66%
2H12H(B) BE AN 80 12,600 66%
2H13H(N) & AN 80 12,600 66%
2H14H(K) BE AN 80 12,600 66%
2H15H(K) =] KB 80 12,600 66%
2H16H(E) BE AN 80 12,600 66%
2H17H(L) =] AP 80 12,600 66%
2H18H(H) BE AN 80 12,600 66%
2H19H(AH) & KB 80 12,600 66%
2H20H(N) BS AN 80 12,600 66%
2H21H(K) 25 AP 80 12,600 66%
2H22H(K) BS AN 80 12,600 66%
2H23H(%&) BS AP 80 12,600 66%
2H24H(%) RS AN 80 12,600 66%
2H25H(H) & KB 80 12,600 66%
2H26H(B) RS AN 80 12,600 66%
2H27H(N) BS KB 80 12,600 66%
2H28H(K) 'S AN 80 12,600 66%
2H29H(K) BS KB 80 12,600 66%
3H1H(&) BE AN 80 12,600 68%
3H2H(X) & AP 80 12,600 68%
3H3H((H) RS AN 80 12,600 68%
3H4H((H) =] KB 80 12,600 68%
3HS5H(X) BS AN 80 12,600 68%
3H6B(K) B85 KB 80 12,600 68%
3H7H(K) BS AN 80 12,600 68%
3H8H(E) BS AP 80 12,600 68%
3H9H(L) BE AN 80 12,600 68%
3H10H(H) =] KB 80 12,600 68%
3H11H(A) RS AN 80 12,600 68%
3H12H(N) BS AP 80 12,600 68%
3H13H(CK) BE AN 80 12,600 68%
1H829H(H) AP & 81 12,600 66%
1H30HX) AN = 81 12,600 66%
1H31H(K) AP == 81 12,600 66%
2H1H(CK) AN = 81 12,600 66%
2H2H(E) KB == 81 12,600 66%
2H3H(L) AN = 81 12,600 66%
2H4H(H) ABR & 81 12,600 66%
2H5H((A) AN = 81 12,600 66%
2H6H(X) KPR = 81 12,600 66%
2H7H(K) AN = 81 12,600 66%
2H8H(K) KB = 81 12,600 66%
2H9H (&) AN = 81 12,600 66%
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2H10H(X) AN = 81 12,600 66%
2H11H(H) KPR == 81 12,600 66%
2H12H(H) AN = 81 12,600 66%
2H13H(N) N = 81 12,600 66%
2H14H(CK) AN = 81 12,600 66%
2H15H(K) KB & 81 12,600 66%
2H16H(%) AN = 81 12,600 66%
2H17H(L) KB = 81 12,600 66%
2H18H(H) AN = 81 12,600 66%
2H19H(H) KPR = 81 12,600 66%
2H20H(N) AN = 81 12,600 66%
2H21H(K) AP & 81 12,600 66%
2H22H(K) AN = 81 12,600 66%
2H23H(%&) AP == 81 12,600 66%
2H24H(X) AN = 81 12,600 66%
2H25H(H) KB == 81 12,600 66%
2H26H(B) AN = 81 12,600 66%
2H27H(N) AP & 81 12,600 66%
2H28H(K) AN = 81 12,600 66%
2H29H(K) AP = 81 12,600 66%
3H1H(&) AN = 81 12,600 68%
3H2H(X) AP = 81 12,600 68%
3H3H((H) AN = 81 12,600 68%
3H4H((H) AP & 81 12,600 68%
3HS5H(X) AN = 81 12,600 68%
3H6H(K) KB = 81 12,600 68%
3H7H(K) AN = 81 12,600 68%
3H8H(E) N = 81 12,600 68%
3H9H(TL) AN = 81 12,600 68%
3H10H(H) KPR & 81 12,600 68%
3H11H(A) AN = 81 12,600 68%
3H12H(N) KPR == 81 12,600 68%
3H13H(CK) AN = 81 12,600 68%
1H29H(H) =] AP 82 12,600 66%
1H30HX) RS AN 82 12,600 66%
1H31H(K) & KB 82 12,600 66%
2H1H(K) BE AN 82 12,600 66%
2H2H(ER) =] KPR 82 12,600 66%
2H3H(L) BE N 82 12,600 66%
2H4H(H) =] AP 82 12,600 66%
2H5H((A) BE AN 82 12,600 66%
2H6BH(X) & AP 82 12,600 66%
2H7H(K) BE AN 82 12,600 66%
2H8H(K) BS AP 82 12,600 66%
2H9H (&) BE AN 82 12,600 66%
2H10H(%) =] AN 82 12,600 66%
2H11H((H) BS AN 82 12,600 66%
2H12H(AH) BS AN 82 12,600 66%
2H13H(N) BS AN 82 12,600 66%
2H14H(K) B85 KB 82 12,600 66%
2H15H(K) RS AN 82 12,600 66%
2H16H (%) =] AN 82 12,600 66%
2H17H(%) RS AN 82 12,600 66%
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2H18H(H) BE AN 82 12,600 66%
2H19H(AH) =] AP 82 12,600 66%
2H20H(N) BE AN 82 12,600 66%
2H21H(K) =] AN 82 12,600 66%
2H22H(K) BE AN 82 12,600 66%
2H23H(%) =] KB 82 12,600 66%
2H24H(X) BE AN 82 12,600 66%
2H25H(H) =] KB 82 12,600 66%
2H26H(B) BE AN 82 12,600 66%
2H27H(N) =] AN 82 12,600 66%
2H28H(K) RS AN 82 12,600 66%
2H29H(K) =] KB 82 12,600 66%
3H1H(&) RS AN 82 12,600 68%
3H2H(X) =] AN 82 12,600 68%
3H3H((H) BE AN 82 12,600 68%
3H4H((H) =] AP 82 12,600 68%
3HS5H(X) BE AN 82 12,600 68%
3H6H(K) BS AP 82 12,600 68%
3H7H(K) BE AN 82 12,600 68%
3H8H(E) =] AP 82 12,600 68%
3H9H(EL) RS AN 82 12,600 68%
3H10H(H) =] AP 82 12,600 68%
3H11H(A) BE AN 82 12,600 68%
3H12H(N) BS AN 82 12,600 68%
3H13H(CK) BE AN 82 12,600 68%
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fll’e : KA290M (/NE150M)
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B : KA340M (\E170M)
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